2023452 E R TFE b
Fe AR AR Wl | gt 1%
—. ErEEE f¢.7¢ 121. 99 0.9
— Al ¢t 17. 47 4.0
5l ¢t 56.60| -2.8
H=relk f¢.7t 47.92 4.6
3|4
RS Jigt | 310125 4.1
Horr: JE2%%K Jigt | 225381 -
RE L & fii 27248 3.1
Hrr: N E fi 15880 8.4
IKFE B Mg - -
BRI fii 32771 17.1
Hodre s Mg 32771 17.1
gk e (SaMHED | 122865 4.9
SESI SRS s M 14895 -1.4
Hrr: J&W fi 9422 0.1
K it lii 5945 9.1
e =L EGE 14.3 1 46.4 1 39.3
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20234F2 7 B 2 Bk 6 b

fib it | |
= ML E T
1. Tk sy Jigt | 1001254| —20.5
Oz E Tl
Lz |4 Ji TG 719421  -1.9
N4 Ji7t 281833 —46.4
@A 4
7 4l JiTt 588477|  19.7
Horre ST HiTG 474862|  23.1
JBE 3 i AL JiJt 408990| —46. 4
et R R EE | ST 1817| -32.5
2. WTHE T (REET)
EIA it 931980 2.4
ZaENSY JiTt 403387  23.5
HE L0 i TG 79236|  37.2
fifiait FiTG 659265 -13.7
APRSea Jigt | 1215074 6.2
7 R JiTt 154845 -18.0
RS R it 303724 0.8




20234F2 7 B 2 Bk 6 b

1-6H | ALk

S A B eim | k)

1. [EE B 5 o f¢.7t - 9.7
Hodp: B .ot -l 68.2
Horre F IR R | 47T -l -4.6
Hr: fi% f¢.7t -l 7.6

2. WG E vt f¢.7t - 111

3. R TN m’ - 21.4
Hrr: fi=2 m* - 10.3

4, BEHbPEREE S B EA | m 21.33] -3.6
ﬂ\ %lﬁi

1. #@F0be = E (ERUAD| 27T 8. 46 0.6
Hrp: @ TE"E f¢. ¢ 7.54| 5.5
2R TR E Ji7t 498.5| -72.8
HoAthME f¢. ¢ 0.87| 257.3

2. @HNMIE (ete) | 2ot 9.15 4,4
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2023423 FE WL B IR b

1-6 5 ] B 1

H bR 44 T L R

Sk
pai
Sw

1. A2 3 i 2 B Jigt | 332429.6 9.2
O 4 X 5

W JiJt | 245425.9] 9.6

EZ0] JiTt 87003.7| 7.8
QfTH I

BN Ji7t 46407.8[ 17.2

i i 6 Jigt | 286021.8] 8.0

2. PRAL iy s 240 98100. 1| 12.6
Oy EHIX 5

IR JiTt 77181.7| 11.4
EZ23] JiTt 20918. 4| 17.2
@FIH RIS

o
¥
=
~

Ji7t 11115.3]  20.4

=
20
A
o

Ji7t 86984.8[ 11.7




20234F2 7 B 2 Bk 6 b

1-6H [&] b

L AL N FA s | £ @

G EELR

1. MBUEIRN Jijt | 300032 | -10.2
2 MBSO (BEAFIR)| T3 7T 51188 | 6.9
3. BIIBLIL Ji7t 39687 | 2.7
Horr: HOERL JiTt 14483 | 17.9
WA JiTt 15378 | -14.9

4. NI B Jijt | 238068 | 6.8

I\ R R AT SCRCIRN JG 13362 7.2
I R R A SRR | T 20411 5.6
2. R ER AR | 8703 7.9

Sy e Y fR7 6H K [F] L3
LA 2 FRA ~ | € @

Hu. 4efl
S LA 25 TUA7 3K AR A Ji76 | 3659050 9.5
Hr: W RREETFK | Jioo | 3241405 13.1
L BHLAE) 25 T B R A0 Jigt | 1479236 18.6




DU 28 2L DX 2 S22 45 b 5 s DL

A7 BE (12D

o X 1-6H | ZExE | R |

Fits | 2 [ WK% | H4
5 593034 - 5.5 -
DiE 15503. 20 - 3.7 -
GRRIT 934. 94 - 3.2 -
WEX 197. 11 1 -1.4 11
P 4B X 121. 99 3 0.9 10
I ] 145. 83 2 3.1 9
SE S 103. 73 5 3.2 8
(iR 76. 24 6 4.2 7
B 105. 05 4 7.9 2
TR e 71.84 7 6.3 5
s BH £ 42. 57 9 6.8 4
HEH 51.79 8 7.4 3
ERUIEE] 12. 26 10 9.7 1
i B EL 6. 53 11 4.4 6




DU 28 2L DX 2 S22 45 b 5 s DL

e (o)

Ho X 1-6H | 4ot | R |

Fite | e KO | H#
5 30416 - 3.7 -
i) 754. 27 - 3.5 -
NGRRIT 130. 88 - 4.0 -
WEX 9.69 8 4.2 3
FAAS X 17. 47 2 4.0 5
I ] L 27. 46 1 4.1 4
NES =) 16. 76 3 3.7 7
iz 5 15. 19 5 3.7 7
S 16. 17 4 4.3 2
ToRE 11. 48 6 3.9 6
1 BH £ 4.77 9 4.0 5
HER 10. 24 7 4.2 3
EERIE=T 1.07 10 4.2 3
il B B 0. 58 11 4. 4 1




DU 28 2L DX 2 S22 45 b 5 s DL

I E (27

Ho X 1-6H | 4ot | Fb |

it | Ha KOG | HiA
o4 230682 - 4.3 -
S 7496. 61 - 1.0 -
NG 381. 43 - -1.0 -
WEX 57. 48 2 -17.1 10
A R IX 56. 60 3 -2.8 9
I ] L 65. 90 1 -1.6 8
PES =) 48. 80 4 0.2 6
hz B 27. 36 7 0.3 5
B 48. 56 5 9.0 3
TR e 34. 27 6 7.0 4
s BH £ 19. 34 8 9.0 3
HEH 17. 22 9 12.1 2
EERUIEE] 4.33 10 16.8 1
il B B 1.57 11 0.1 7




DU 28 2L DX 2 S22 45 b 5 s DL

=g E (27T

Ho X 1-6H | 4oxtn | FEk | g

Fitg | HEE (KO | H4
= 331937 - 6.4 -
BG4 7252. 32 - 6.2 -
WA 422. 63 - 6.8 -
NEX 129. 94 1 6.5 6
T B X 47.92 3 4.6 9
o8 ] B 52. 47 2 9.0 1
PEEE = 38. 17 5 7.1 4
(iR 33. 69 6 7.7 3
Mmoo 40. 32 4 8.2 2
T e 26. 09 7 6.5 6
I BH £ 18. 46 9 5.4 8
HER 24. 33 8 5.9 7
ERUIEE] 6. 86 10 6.7 5
i H 4. 38 11 5.9 7




DU 28 2L DX 2 S22 45 b 5 s DL

P E T sl (2o

o X 1-6H | x| R | s

2ird | HA (KO | 4
& - - - -
B - - - -
P 911.91 - -8.2 -
NEX 89. 04 5 -34.7 11
P AP X 100. 13 4 -20.5 9
RS 208. 74 1 -2.2 6
PESE = 105. 55 3 -2.8 7
iz H 60. 44 7 -11. 1 8
B 185. 03 2 0.7 4
TRE 69. 78 6 -1.9 5
1% BH 49. 74 8 6.3 3
HEHE 34. 54 9 13.0 1
B HLEL 7.32 10 8.0 2
iR 1. 60 11 -25.2 | 10
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DU 28 2L DX 2 S22 45 b 5 s DL

FRL LA L AV I (127c)

fho X 1-63 | 4exddn | [k | i

Fitd | R KO | 4
4 - - 3.8 -
SRS - - 0.3 -
i - - -4.7 -
WEX - - -30.3 11
P AR X - - -6. 1 7
I8 ] B - - ~10. 4 9
NE S S0 - - -5.0 6
iz E - - -9.5 8
B - - 12.7 3
TR - - 8.1 5
g BH L - - 20. 8 1
HEE - - 12.8 2
ERUIEE] - - 9.1 4
L - - -23.3 | 10
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DU 28 2L DX 2 S22 45 b 5 s DL

[ € B BBt sE et (1270)

o X 1-6/3 | 4exddn | [k | g

Sitd | R KO | 4
4 243113 - 3.8 -
RS - - 1.4 -
NGRRIT - - 4.0 -
WEX - - -28.5 10
P KB IX - - 9.7 6
I B - - 9.6 7
NE S S0 - - 14. 4 1
iz 8 - - 12. 4 4
B - - 10. 4 5
TR - - 14.0 3
g BH EL - - 14.1 2
HEE - - 9.6 7
ERUIEE] - - 6. 2 9
L - - 8.4 8
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DU 28 2L DX 2 S22 45 b 5 s DL

ol P B BB (120
o X 1-6H | 4ot | R | g

Fits | 2 (WK% | H4
&5 227588 - 8.2 -
IR 5323. 97 - 6.7 -
G RRIT 339. 93 - 8.3 -
WEX 120. 48 1 5.2 11
P B X 33. 24 4 9.2 6
g ) 38. 39 2 14.3 1
PEEE = 23. 44 6 8.5 8
[R5 28. 49 5 6.5 10
B 34.31 3 11.0 3
T e 18. 46 8 9.5 5
I BH £ 14. 87 9 8.2 9
HEE 21. 64 7 11.7 2
R 4. 30 10 10. 6 4
i B 2. 30 11 9.1 7
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DU 28 2L DX 2 S22 45 b 5 s DL

EARE R SR (o)

o X 1-6H | daxi | R |

it | Ha KO | HE
€ 19672 - 6.5 -
i) 15902 - 6.7 -
G RRIT 13575 - 6.8 -
WEX 17330 1 5.7 6
P B X 13362 4 7.2 2
g ] L 13723 3 7.0 3
SE S 12529 5 7.2 2
i 12316 8 6.9 4
B 13978 2 6.5 5
ToRE 12460 7 7.2 2
I BH £ 12257 9 7.3 1
HER 11159 11 7.3 1
R 11938 10 7.0 3
5 B 12477 6 7.3 1
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DU 28 2L DX 2 S22 45 b 5 s DL

IR R NBS TSRO ()

X -6 | dntH| R | s

it | Ha KO | HEA
4 26357 - 5.4 -
BE7E 44 22150 - 5.5 -
NG 19874 - 5.5 -
WEX 20526 1 5.3 9
P K X 20411 2 5.6 6
g ] B 20203 3 5.9 3
PE =) 19693 5 5.5 7
[R5 19371 6 5.8 4
S 20018 4 5.4 8
TomE 19197 7 5.7 5
I BH £ 18644 8 6.1 1
A 18410 11 5.8 4
ERIE=T 18642 9 5.6 6
T H 18480 10 6.0 2
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DU 28 2L DX 2 S22 45 b 5 s DL

AN R BT SZRCN. ()

X 167 | x| R | gk

S | HEE (KO | HE4
5 10551 - 7.8 -
IR 8450 - 7.9 -
NGRRIT 8294 - 7.6 -
WEX 8971 1 7.3 9
e A [X 8703 3 7.9 3
I [ 8862 2 7.5 7
NE S S 8372 5 7.7 5
[R5 8107 6 7.8 4
= 8440 4 7.6 6
T e 7905 7 8.0 2
I BH £ 7362 10 8.1 1
A 7258 11 7.4 8
B L E 7399 9 7.1 11
il PpE 7608 8 7.2 10
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DU 28 2L DX 2 S22 45 b 5 s DL

o IX

RN TINS5 A SE L (28D

1-6/ [ 4axidi | HE | L

2its | 4 G | H4
4 - - -
K=y - - -
&Gt 500. 41 - 53.5 -
WEX 99. 93 1 50. 7 9
P K X 63. 70 3 52. 2 7
g ) 70. 31 2 48. 2 11
PESIE = 57.26 4 55. 2 6
iz E 48. 81 6 64.0 2
B 50. 68 5 48.3 10
ToRE 46. 05 7 64. 1 1
i BHE 23. 86 9 56. 0 5
HEE 29. 53 8 57.0 3
B IE 6. 94 10 56. 6 4
fihdE B 3. 34 11 51.1 8
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